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$. A#) :3 %#62)7.A). <$1). A#%/31#)71P \#. 9!.:)(1 $38 Z$%#% )#.)% 2B"7#A). /7B(H
1!?7$(2#%62). ^)78$27).% T37A) 5!7?)%1)001 3.A :3%$==). =#1 A)7 7!00).#.A#5#A3)00).
<$1).8#01)73.? $.2$.A )#.)7 (7!1!1B(#%62). J=%)1:3.? #003%17#)71P >"%620#)b).A T37A).
$3%?)TE201) ^!7H 3.A `$621)#0) A)% 9!.:)(1)% A#%/31#)71P

>362 T)#1)7) !88).) [3./1) %!001). #. :3/F.81#?). >7")#1). .!62 5)71#)81 $A7)%%#)71 T)7H
A).P '#.%#6210#62 A)% [7!1!1B(% #%1 A)7 d)%%!376).")A$78 A)% DD<, Xd)62).:)#1+ ,()#H
62)7(0$1:Y $.2$.A $.T).A3.?%.$2)7 D#01)77)?)0. 3.A a>`H9!==3.#/$1#!. :3 3.1)7%3H
62).P C.%")%!.A)7) $38?73.A A)% 2!2). 9!%1).A736/% #. A)7 >31!=!"#0#.A3%17#) #%1 A#)%
)%%).1#)00 8F7 A#) d)6218)71#?3.? )#.)% (7$/1#%62). \#.%$1:)%P <)% c)#1)7). #%1 "):F?0#62
A)% 9!.:)(1)% .!62 A)7 D$00 5)71#)81 :3 ")7F6/%#621#?).+ A$%% A)7 D$27:)3?")%#1:)7 Xd*Y
:3=#.A)%1 :)#1T)#0#? .#621 =#1 A)= D$27:)3?8F27)7 F")7)#.%1#==). =3%%P '#.%#6210#62
5!. <$1).%6231:$%()/1). =F%%1) 2#)7 .!62 8)#.?7$.30$7)7 :T#%62). 5)7%62#)A).). D$27H
:)3?8F27)7. 3.1)7%62#)A). T)7A).+ T$% %#62 ")#%(#)0%T)#%) =#1 "#!=)17#%62). ,B%1)=).
:3 C.%$%%).$312).1#/$1#!. UZ,MjW /!="#.#)7). 0#)b)P >362 $A7)%%#)71 A$% 9!.:)(1 $/13H
)00 .37 A#?#1$0) <$1). 5!. A). D$27:)3?"3%%).P <$7F")7 2#.$3% /$.. )% %#..5!00 %)#.+
T)#1)7) C.8!7=$1#!.). X$3%?)TE201) ,).%!7T)71)+ #.1)7.) Z)17#)"%A$1). 5!. ,1)3)7?)7EH
1).+ vY =#1 )#.:3"):#)2).P  7!1: A)7 #. >"%62.#11 o %/#::#)71). >.?7#88%%:).$7#). %!001).
#. A). [7!:)%%). X:PZP c$713.?Y $362 :30E%%#?) @-?0#62/)#1). 5!7?)%)2). T)7A).+
)#.). c)62%)0 A)% DD<, X:PZP ")# <)8)/1Y !A)7 A)% D$27:)3?% X:PZP ")# `)3/$38Y 5!7H
.)2=). :3 /-..).P

'(*D3(-,*-$*9 C.  )#0). T37A) A#)%) ^)7-88).10#623.? A3762 A#) \37!(E#%62) J.#!. #= 9!.H
1)i1 A)% ^)7"3.A(7!Q)/1% aG=()1).6) #. @G"#0#1B XaH4MMjHo4onY 3.1)7%1F1:1P  )#0) A)7 \7/)..1H
.#%%) :3 A). I73.A0$?). A)7 C HD!7).%#/ A#)%)7 >7")#1 ).1%1$.A). $3% A)7 Z)$7")#13.? )#.)% [7!H
Q)/1)% A)% Z3.A)%$=1% 8F7 ,#62)72)#1 #. A)7 C.8!7=$1#!.%1)62.!0!?#) XZ,CYP  2) T!7/ A)%67#")A #.
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12#% ($()7 2$% ")). %3((!71)A #. ($71 "B 12) \37!()$. a!==#%%#!. 127!3?2 12) Ca (7!?7$==)
3.A)7 6!.17$61 Ca H4MMjH4*NNjN \adx[ CCP

]!)$%(),%?$%7$!"#*!3

U'9<MVW'!(()+  Pm 9#01:+ ,Pm <#11=$..+ ;Pf ,)637#1B 127)$1% 1! $31!=!1#5) a>` .)1T!7/% e (7$6H
1#6$0 )i$=(0)% $.A %)0)61)A %2!71H1)7= 6!3.1)7=)$%37)%P C.f ,>D\aG@[ 4MMV+ ,(7#.?)7
]`a, o4*L+ C,Z` LjVHKHonMHVjNLjHj+ 4MMVm ,P 4KoH4nVP

U9!*MW 9!%62)7+ 9P )1P$0Pf \i()7#=).1$0 ,)637#1B >.$0B%#% !8 $ @!A)7. >31!=!"#0)P C.f  2)
C\\\ ,B=(!%#3= !. ,)637#1B $.A [7#5$6B+ G$/0$.A+ a>+ @$B *NH*L+ 4M*MP

UZ@MLW Z37?+ 'Pm @!%)7+ >P X'7%?PYf '$.A"362 ^)7/)27%3.8$007)/!.%173/1#!.+ 4P+ $/13$0#%#)71)
>380$?)+ ^)70$? ^#)T)? w  )3".)7+ C,Z` LjVHKHVKnVHMonNH*+ 4MMLP

UZ!MVW Z!7?))%1+ 9Pf \0)/17!.#/ #. A)7 D$27:)3?1)62.#/ H '$7AT$7)+ ,!81T$7)+ ,B%1)=) 3.A
[7!Q)/1=$.$?)=).1+ *P >380$?) 4MMV+ ^#)T)? ^)70$?+ C,Z` LjVHKHVKnVHM4MjH*+ 4MMVP

UZ<MjW Z$7#%$.#+ >Pm Z#$.6!+ <Pf J.3%3$0 a$7 `$5#?$1#!.  7#6/%f C.Q)61#.? d<,H @a  7$88#6
C.8!7=$1#!. ,#?.$0%P C.f a$. ,)6 c)%1+ ^$.6!35)7+ 4MMjP

U@D>*MW@BD!i >3%1#.f '$6/)7 <)$61#5$1)% *MM a$7% ^#$ C.1)7.)1+ *jPKP4M*M+
211(fkkTTTP=B8!i$3%1#.P6!=kA((k.)T%k0!6$0kK*j*MH'$6/)7H<)$61#5$1)%H*MMHa$7%H^#$H
C.1)7.)1+ ])1:1)7 _3?7#88f *NPNP4M*MP

U'9<MLW'!(()+  Pm 9#01:+ ,Pm <#11=$..+ ;Pf >((0B#.? C.173%#!. <)1)61#!. 1! >31!=!1#5) C e
\$70B C.%#?21% $.A d)=$#.#.? a2$00).?)%P C.f ;!37.$0 !8 C.8!7=$1#!. >%%37$.6) $.A ,)H
637#1B X;C>,Y+ C,,`f *oonH*M*M+ ^!0P n+ C%%3) N+ 4MMLm ,P 44NH4KoP

U@'<*MW@F1)7+ @Pm '!(()+  Pm <#11=$..+ ;Pf <)6#%#!. @!A)0 8!7 >31!=!1#5) C.173%#!. <)1)61#!.
,B%1)=%P \7%62)#.1 #.f >31!=!1#5) H ,$8)1B y ,)637#1B 4M*M+ >A$ <)31%620$.A  $?3.?
4*P H 4KP ;3.# 4M*M+ ,1311?$71+ ,2$/)7 ^)70$?+ >$62).+ 4M*MP

U9'>MLW9#01:+ ,Pm '#0A)"7$.A1+ @Pm >01%62$88)0+ dPm <#11=$..+ ;Pm ^#)02$3)7+ aPm ,6230:+ aPf ,#H
62)7%1)003.? 5!. ?)0-%621)= ,62$A6!A) $.2$.A 5!. d>@H >.$0B%). 3.A D#0)6$75#.?
=#1 '#08) )#.)% 8!7).%#%62). <$1).=!A)00%P C.f **P <)31%62)7 C H,#62)72)#1%/!.?7)%%+
Z!.. 4MML+ ,)63@)A#$ ^)70$? C.?)02)#=+ C,Z` LjVHKHL44jnNHLjHK+ 4MMLm ,P njKHnVVP

U'!*MW '!0123%).+ ,Pf <$1).)72)"3.? $3% D$27:)3?.)1:T)7/). .$62 C H8!7).%#%62). [7#.:#(#).+
Z$62)0!7$7")#1+ J.#5)7%#1E1 @$?A)"37?+ 4M*MP

U'$MKW '$7=%+ <Pf J.8$00A$1).%()#62)7 XJ<,Y $0% =-?0#62)7 Z)#17$? :37 ^)7/)27%%#62)72)#1 #=
@)#.3.?%"#0A ;3?).A0#62)7 3.A ')7$.T$62%).A)7+ <#%%)71$1#!.+ Z7$3.%62T)#?+ 4MMKP

U\<dMNW `$1#!.$0 '#?2T$B  7$88#6 ,$8)1B >A=#.#%17$1#!. X`' ,>Y+ <)($71=).1 !8  7$.%(!71$H
1#!. X<G Yf \5).1 <$1$ d)6!7A)7% H D#.$0 d30)+ <!6/)1 `!P `' ,>H4MMNH4oNNN+ 4MMNP

U_,MVW _#==)7=$..+ cPm ,62=#A?$00+ dPf Z3%%B%1)=) #. A)7 D$27:)3?1)62.#/ H [7!1!/!00) 3.A
,1$.A$7A%+ KP+ >380$?)+ ^#)T)? ^)70$?+ C,Z` LjVHKVKnVMnnj*+ 4MMVP

U@d*MW @Bd$1) [7!?7$=+ 211(fkkTTTP(7!?7)%%#5)P6!=k=B7$1)k+ ])1:1)7 _3?7#88f *NPNP4M*MP
U9'M4W 973%)+ cPm ')#%)7+ ;Pf a!=(31)7 D!7).%#6% e C.6#A).1 d)%(!.%) \%%).1#$0%+ >AA#%!.

c)%0)B+ C,Z` M4M*jMj*Lo+ 4MM4P
UZ3*MW Z362=$..+ ;Pf \#.8F273.? #. A#) 97B(1!?7$(2#)+ oP >380$?)+ ,(7#.?)7H^)70$?+ C,Z` LjVH

KHNn4H***VoHK+ 4M*MP
U\6/MKW \6/)71+ aPf C H,#62)72)#1+ G0A)."!37?+ C,Z` KHnVNH4j4MoHn+ 4MMKP
UZ_MVW <)10)8 Z!762)7%+ [)1)7H@#62$)0 _#)?0)7f @#1 [9C ?)?). A). >31!/0$3+ ')#%) `)T%1#6/)7

oPKP4MMV+ 211(fkkTTTP2)#%)PA)k.)T%1#6/)7k=)0A3.?k*MnoLK+ 4MMVP
Uc)MLW c)B0+ ZP )1P $0Pf ,)637#.? ^)2#630$7 G.HZ!$7A C ,B%1)=%f  2) \^C > [7!Q)61P C.f 4oP

^<Ck^c I)=)#.%62$81%1$?3.? H >31!=!1#5) ,)637#1B Xa<Hd!=Y+ <F%%)0A!78+ ^<C
c#%%).%8!73= I="'+ 4MMLP

UZ,MjW ZF/)7+ JPm ,62=#A1+ dPf Z#!=)17#%62) D$27)7#A).1#8#/$1#!.P C.f 4KP ^<Ck^c I)=)#.H
%62$81%1$?3.? H >31!=!1#5) ,)637#1B+ ^<CHZ)7#621) `7P 4M*N+ ^<CH^)70$?+ 4MMjP
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